1/23 a=FFA3—FT=_ARb—F Ak H)—2ih— )L K&

B8 & Bz (1T0)

#EEH HE BT (KSP)

FiEA

1

2

3

i

B3z

FH EE

1 LEITS

4-6

1-6

0-2

3

fiE YA

2 UTP&HT-CTC

6-4

1-6

1-1

2

Ba B

3 KST

6-1

6-1

2-0

1

Fi£B

FiBX

[=§iva

Bl fEEs

LTy

0-6

o6

0-2

3

INK FREE

2 VIP TA

6-0

6-2

2-0

1

INER &

3 HAEDT=R

6-5

2-6

1-1

2

FEEC

i

B3z

- EKER

1 HAUEDT=RA

2-6

3-6

0-2

3

BHa 8-

2 KST

1-6

1-1

2

e BEZzoT

3 TTC

1

R0 | 1 2 3 | BB | IEfE
 Be B 6-3 | 36 | 1-1 | 2
2 TR BRI 36 26 | 0-2 | 3
3 R RN 63 | 62 2-0 | 1
26119 1 2 3 | BEX | NEfL
1 U*'If":jf)T:U:'ATJC 6-2 6-0 2-0 1
g PER B 56 0-6 | 02 | 3
3 B8 BE1 06 | 6-0 -1 | 2
6L | 2 3 | BER | NEf
1 ﬁ%ﬁf‘ 6-1 | 6-4 | 2-0 | 1
g BIL BB 16 0-6 | 0-2 | 3
g P RAR| 46 | 6-0 -1 | 2







